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BOOKS - RS AGGARWAL MATHS (HINGLISH)

ALGEBRAIC EXPRESSION

1. Write the following using numbers. Literals and signs of basic
operations

(i) 3 more than a number x

(ii) y less than 6

(iii) One-third of the sum of xand y

(iv) 5 less than the quotient of x by y

(v) The quotient of x by y added to the product of xand y

(vi) 7 taken away from the sum of x and y


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ttaFUfeFTnYm

o Watch Video Solution

2. Write the following statement using numbers, literals and signs of

basic operations: 7 times a number x is y less than a number z'

o Watch Video Solution

3. Write the following in the exponential form:

(laxaxax...12times(i)b Xz Xz Xz XYyXxXy

o Watch Video Solution

4. Write down each of the following in the product form:

(i) a2b” (i) 963 C (iii) 6a’b>c

o Watch Video Solution



https://dl.doubtnut.com/l/_ttaFUfeFTnYm
https://dl.doubtnut.com/l/_y9eNuxKAuNXw
https://dl.doubtnut.com/l/_kuJcjJl0PxOM
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5.If x=1,y=-2and z = 3. find the value of

(i) z® + y® + 23 — 3zyz (i) 3zy* — 1522y + 4z
A. 38,90
B. 28, 90
C. 38, 80

D. 28, 80

Answer: A

o Watch Video Solution

6. Identify monomials, binomials and trinomials from the following
expression:
(i) -3xyz (ii) 4z’yz + 9 — 5z (iii) 7

(iv) 2 + y2 + 22 — p2 (v) x + 5 (vi) 6ab

o Watch Video Solution



https://dl.doubtnut.com/l/_HSDCzZfQyNDX
https://dl.doubtnut.com/l/_QOk5g1kWEf8S

7. Write down the coefficient of

(i) x in 9 xy (ii) a in - 7 abc (iii) xyz in - xyz (iv) b in - abc

o Watch Video Solution

8.Add 6zy?, — 4zy?, zy?, bry?

o Watch Video Solution

9. collect the like terms and simplify:

522 — 22 +T7—9+ T — 32> + 42> —z — 1

o Watch Video Solution

10. Add the following expressions:

52 + Ty — 622, 4y + 3z2, 922 + 22% — 9y and 2y — 2z

[ e~


https://dl.doubtnut.com/l/_lEWoaAERgziH
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[ @ Watch Video Solution ]

1. Subtract 6zy — 42% — y*> — 2from 22 — 3zy + Ty? + 5

o Watch Video Solution

12 From the sum of 6z* 32>+ 72> -5x+1 and

—3z% + 523 — 922 + 7Tz — 2 subtract 2z* — 52% + 22% — 62 — 8

° Watch Video Solution

13. Simplify (a®> — 8ab — 5) + (3ab — 4a® + 8)

o Watch Video Solution

14.Simplify : (2 — y* + 22y + 1) — (2 + y* + 4zy — 5)

| ° \Wiak~h \NidanAn CaAliikian |
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15. simplify: 3x - [3y - {2x - (y - x)}]

o Watch Video Solution

16. Simplify: 2a — [3b — {a — (2¢ — 3b) + 4¢c — 3(a — b — 2¢)}]

A.3b + 8¢
B.2b + 8¢
C.3b + 15c

D.3b+ Tc

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ElUdDyK31daZ
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1. Write the following using literals numbers and signs of basic
operations:

(i) x increased by 12

(i) y decreased by 7

(iii) The difference of a and b, when a > b

(iv) The product of x and y added to their sum
(v) 5 times x added to 7 times y

(vii) sum of x and the quotient of y by 5

(viii) x taken away from 4

(ix) 2 less than the quotient of x by y

(x) x multiplied by itself

(ix) Twice x increased by y

(xii) Thrice x added toy squared

(xiii) x minus twice y

(xiv) x cubed less than y cubed

(xv) The quotient of x by 8 is multiplied by y

° Watch Video Solution



https://dl.doubtnut.com/l/_1g2in4LPJZeO

2. Ranjit scores 80 marks in English and = marks in Hindi. What is his

total score in the two subjects?

A.x = 80
B.z + 80
C.80 —x

D. None of these

Answer: B

o Watch Video Solution

3. Write the following in the exponential form:
()b xbxbx...15times
(i)y xyxyx....20times

(iii)ldxaxaxaxaxbxbxbd


https://dl.doubtnut.com/l/_1g2in4LPJZeO
https://dl.doubtnut.com/l/_g75cF0dhQUUd
https://dl.doubtnut.com/l/_ck2qQse4dyvJ

(ivibXxaxxXxaxXxyxy

(V3 XzXzXzXyXyxaex

o Watch Video Solution

4. Write down the following in the product form:
(i) =%y’

(ii) 6y°

(iii) 9z’ 2

(iv) 10a®%c?

° Watch Video Solution

1.If a=2 and b =3, find the value of

(la+b


https://dl.doubtnut.com/l/_ck2qQse4dyvJ
https://dl.doubtnut.com/l/_M9lWwfJBmUSF
https://dl.doubtnut.com/l/_NdLjUr2k76tF

(i) a® + ab

(iii)) ab — a?
(iv) 2a - 3b
(v) 5a® — 2ab
(vi) a® — b

o Watch Video Solution

2. If x =1y =2 and z = 5, find the value of (i) 3x - 2y + 4z (ii)

x? + y? + 22 (i) 22% — 3y + 2° (iv) xy + yz - 2x (v) 22y — Byz + zy?

(vi) z® — y? — 23

o Watch Video Solution

3.1f p=-2,q=-1and r =3, find the value of
) p*+q* —1°
(i) 2p* — ¢* + 32

(ii)p-q-r


https://dl.doubtnut.com/l/_NdLjUr2k76tF
https://dl.doubtnut.com/l/_kNxSwFnje5q8
https://dl.doubtnut.com/l/_euFAsnyLggKw

(iv) p3 + q3 + 73 4 3pqr
(v) 3p*q + 5pg® + 2pgr

i) p* + ¢* — r*

o Watch Video Solution

4. Write the coefficient of
(i) x in 13x

(i) y in - 5y

(iii) a in 6ab

(iv) z in - 7xz
(vV)pin-2pgr

(vi) y? in 8zy’z

(vii) % in z°

(viii) 22 in —z?

o Watch Video Solution



https://dl.doubtnut.com/l/_euFAsnyLggKw
https://dl.doubtnut.com/l/_4TJAfwQQ5xgS

5. Write the numerical coefficient of
(i) ab

(ii) -6bc

(iii) 7xyz

(iv) —223y%2

o Watch Video Solution

6. Write the constant term of

(i) 3z% + bz + 8

(ii) 222 — 9

e 9 3

(iii) 4y° — 5y + 5
8

(iv)z3—2z2+z—§

o Watch Video Solution



https://dl.doubtnut.com/l/_Nkh4Yg0gfBhw
https://dl.doubtnut.com/l/_wjnmd3W2HZOY

7.1dentify the monomials binomials and trinomials in the following: (i)
- 2xyz (i) 5 + T2y 23 (iii) — 5z (iv) a + b - 2¢ (v) xy + yz - zx (vi) ® (vii)

az® + bx?® + cx + d (viii) - 14 (ix) 2x + 1

° Watch Video Solution

8. Write all the terms of the algebraic expressions:
(i) 425 — 6y* + Tz?y — 9

(ii) 923 — 5z + 7ar:3y — TYz

° Watch Video Solution

9. Identify the like terms in the following:
(i) a2, b¥?, — 2a2, ¢, 4a
. 1
(i) 3x, 4xy, - yz, Ezy
2

(iii) — 222, 22y, 5y’z, 222

(iv) '‘abc, ab™(2)c, abc”(2), c*(2)ab, b”*(2)ac, a”(2)bc, cab”™(2)


https://dl.doubtnut.com/l/_NSVLR1PFUYm0
https://dl.doubtnut.com/l/_6VPCNPAjz123
https://dl.doubtnut.com/l/_uWfD0dKTnbVa

o Watch Video Solution

1. Add:

(i) 3x, 7x

(ii) 7y, -9y

(iii) 2xy, 5xy, -xy

(iv) 3x, 2y

(v) 2:c2, — 3:1:2, Tx>

(vi) 7xyz, -5xyz, 9xyz, - 8xyz
(vii) 6a3, — 4a3, 10a®, — 8a®

(viii) 2 — az, — 5z + 2a2, — 42? + 4a®

o Watch Video Solution



https://dl.doubtnut.com/l/_uWfD0dKTnbVa
https://dl.doubtnut.com/l/_9zm7b4taU81J

2. Add the following :

(1) x -3y -2z (1) m? -4m + 8
qu.?y—[ -2m' +8m -8

-7x -2y +4z -m'-2m -7

(i) 2x* -3xy+y° (tv] 4xy-Byz - 7zx
-7x® - Bxy - 24! - Bxy + 2yz + zx
4x® + xy-8y° -2xy - 3yz + 3zx

o Watch Video Solution

3. Add:

()3a-2b+5¢c,2a+5b-7¢c,-a-b+c

(ii) 8a - 6ab + 5b, -6a - ab - 8b,-4a + 2ab + 3b

(iii) 22° — 32> + 7Tz — 8, — b5z® + 22® — 4z + 1,3 — 6z + 5z® — 2°
(iv)

222 — 8xy + Ty? — 8zy?, 2zy® + 6xy — y® + 322, 4 — zy — 2 + zy?

(v)

3 3

3+ — 2%+ 3zyz, — a4+ P+ 2% — 6ayz, — 2 — P — 2P — Sxyz


https://dl.doubtnut.com/l/_uVxNyn5E7MC1
https://dl.doubtnut.com/l/_e3LURZyqw1VD

(vi)

2+ x— x> +62°. —6—2r +4z> — 3232+ 22. 3 — 2% + 4z — 222

o Watch Video Solution

4. Subtract:

(i) 5x from 2x

(ii) -xy from 6xy

(iii) 3a from 5b

(iv) -7 x from 9y

(v) 10z? from — 7z

(vi) a®> — b from b — a?®

o Watch Video Solution

5. Subtract:
(i) 5a + 7b - 2c from 3a - 7b + 4c

(i) a-2b -3cfrom-2a + 5b -4c


https://dl.doubtnut.com/l/_e3LURZyqw1VD
https://dl.doubtnut.com/l/_yleoJD9WvqRf
https://dl.doubtnut.com/l/_q9GpEpqWWqjL

(iii) 522 — 3zy + y2 from Tz® — 2zy — 4y°

(iv) 6z° — 7z + 5z — 3 from4 — 5z + 6z° — 8z°
v) 23 + 22’y + 6zy® — y> from y® — 3xy? — 4a?
(vi) — 11:1:23/2 + Tzxy — 6 from 931323/2 —b6zy+9

(vii) -2a + b + 6d from 5a - 2b - 3¢

o Watch Video Solution

6. simplify:
(i)2p* —3p* +4p—5—6p° + 20" —8p— 2+ 6p+ 8
(i) 222 — zy + 6z — 4y + Hry — 4z + 622 + 3y

Gi)z* — 62> +22 — 7+ 72° — 2 + 522 + 2 — 2*

o Watch Video Solution

7. From the sum of 322 — 5z +2 and —5x% — 8¢ + 6 subtract

422 — 9z + 7

| o WAF_r_L vl e~ 0.
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8. If A =Tz 4+ 5zy — 9y, B= — 42’ + 2y + 5y° and

C = 4y® — 32% — 6zythen showthat A+B+C=0

o Watch Video Solution

9. what must be added to 5z° — 222 + 6z + 7 to make the sum

23—+ 17

o Watch Video Solution

10. If P =a?— b+ 2ab, Q = a® + 4b* — 6ab,
R=bvV+0b S=a®>—4ab and T = —2a*> +b* —ab+a Find

P+Q+R+S-T

o Watch Video Solution



https://dl.doubtnut.com/l/_vgYDK3LOqXZ8
https://dl.doubtnut.com/l/_RfNb8VYnLqbY
https://dl.doubtnut.com/l/_eWGOwpLbq8bY
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11. What must be subtracted from a® — 4a® + 5a — 6 to obtain

a® —2a + 17

o Watch Video Solution

12. How much is a + 2b - 3c greater than 2a -3b + ¢?

o Watch Video Solution

13. How much less than x - 2y + 3z is 2x - 4y -z?

° Watch Video Solution

14. By how much does 3z* — 5z + 6 exceed x> — z* 4 42 — 1?

o Watch Video Solution



https://dl.doubtnut.com/l/_Y0YAZ06H1j2t
https://dl.doubtnut.com/l/_9oWnPAeMyKvI
https://dl.doubtnut.com/l/_I33aRQVuVo4d
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15. Subtract the sum of 5x - 4y + 6z and -8x + y - 2z from the sum of 12x

-y+3zand-3x + 5y - 8z

o Watch Video Solution

16. By how much is 2x - 3y + 4z greater than 2x + 5y - 6z + 27

o Watch Video Solution

17. By how much does 1 exceed 2x - 3y - 4?

o Watch Video Solution

l.a-(b-2a)

| ° Watch Video Solution


https://dl.doubtnut.com/l/_Gn9QDGx0TVR6
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2.4x - (3y -x + 2z2)

o Watch Video Solution

3. solve: (a2 +v + 2ab) — (a2 + b — 2ab)

A. 6ab
B. 5ab
C.4ab

D.3ab

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1iwpxW7lguXI
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https://dl.doubtnut.com/l/_hIRlmlyg3x1q

4.-3(a+b)+4(2a-3b)-(2a-b)

A.3a-15b

B.3a-14b

C.4a-12b

D.5b-6a

Answer: B

o Watch Video Solution

5.solve: —4z” + {(22® — 3) — (4 — 327%)}

o Watch Video Solution

6. solve: —2(:02 — i+ :cy) — 3(3:2 +y? — my)

| o WMilakl . \tdaa CcAL..diam


https://dl.doubtnut.com/l/_g2UqNoxJnLkB
https://dl.doubtnut.com/l/_UiK7xtwGIhQ4
https://dl.doubtnut.com/l/_H23gk8vn11E5

L ¥Yvdlilll VIUCUV JVIULIVII

7.a-[2b-{3a-(2b-30)}]

° Watch Video Solution

8.-x + [5y - {x - (5y - 2x)}]

o Watch Video Solution

9.86 - [15x-7 (6x-9) -2 {10x - 5 (2 - 3x)}]

o Watch Video Solution

10. 122 — [3:1:2 + 5x2 — {7;1:2 — (4 — 3 — zr:3) + 6:83} — 3:13]

o Watch Video Solution



https://dl.doubtnut.com/l/_H23gk8vn11E5
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1. 5a — [a2 — {20,(1 —a+ 40,2) — Sa(a,2 — ba — 3) H — 8a

o Watch Video Solution

123 - & — {2y — (52 +y - 3) + 2%} — (7 — 3y)]

o Watch Video Solution

B.zy — [yz — ze — {yzr — (3y — z2) — (xy — 2y)}|

o Watch Video Solution

14.2a-3b-[3a-2b-{a-c-(a-2b)}]

° Watch Video Solution
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15.-a-[a+{a+b-2a-(a-2b)}-b]

° Watch Video Solution

16.2a — 3b — [4a — 3b — {a — 2c — (a — 2b — ¢)}]

o Watch Video Solution

17.3x - [4y - {7x - (3Z - 2y) + 4z - 3(x + 3y - 27)}]

o Watch Video Solution
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